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1. On which product/service. GST is not

applicable -
(1) Petroleum products (2) Wooden products

(5) Question not attempted

(3) Clothes products (%) None of the ahﬂ\m%

Where on the import of any goods, duty has be:n

paid upon clearance for home consumption, such

duty can be refunded to the person by whom or
on whose behalf it was paid., if -

(1) The goods are found to be defective or not in
conformity with the specifications.

(2) The importer does not claim any duty draw
back with respect to these goods.

(3) If the goods are exported back/importer
relinquishes his title to the goods/they are
destroyed in the presence of the proper
officer.

(4) All the above

(5) Question not attempted

+ All tax payers filing returns GSTR 1 to Gsmﬁ

are required to file an annual return by -

(1) 31" December of the next financial year
(2) 31" October of the next financial year
(3) 31" August of the next financial year

(4) 30™ November of the next financial year
(5) Question not attempted

» Tax is required to be deducted at
.............................. from rent payable on plant
and machinery to a resident. (Assuming PAN
details are available) -

(1) 15% (2) Nil

(3) 1% (4) 2%

(5) Question not attempted

- Short term capital gain other than covered under 5

Section 111A is charged to tax at - J
(1) 15% -
(2) 10% 2

{3) Normal Rate of tax which is determined on
the basis of the total taxable income of the tax

payer
(8) 20%

(5) Question not attempted

Lo o1 B e s M 1 G - =
& _

() fEiferm gwre (2 o § IS
(3) gus & IwTg (4) Iudres & W ®1E T80
(5) argwita wes

wiEl fell 9WE @ AT W, 9Ye] SUMMT @

fore Pt v wob @1 grar e a8

Yod B 99 afed 1 Aoy o awar €

forws g o el s 9 e e

o1, gfe —

(1) 5 @R e T O fARd & Saey
el T |

(2) smares & awgel @ wau [ gew
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@ aft =@ aww fam ww Ror o
&/ qMaE de TR A0 AbeR Bie gl
g /61 o= sfua afe 9 suRefy § =
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(4) SRTaE Wl

(8) arafe we

wradem 1 9§ Joadhm 3 Red afaa w9

fed wiftae #var snawas 2|

(1) arrel faeia a9 @ 31 s

(2) 3Tl fasfi ad @1 31 smear

(3) apret foreira ad & 31 eFeg

(8) aprar fasi o 1 30 TER

(5) srgeifa we

e el @ a3 ik weied o g Mg

L o N et R W T diel Wl

Faead €| (A o 5 99 fawo syee §) -

(1) 15% (2) Nil

(3) 1% (4) 2%

(5) arqaiiRe WA

g1 111A % affa seqwrels Gefvm @™ @t

BIEHY T B B B —

(1) 15%

(2) 10%

(3) WA FR @ &% W1 & Fam 6 ga
arg s W i #1 o 2

(4) 20%

(5) seive e
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B. If the Rank Correlation Coefficient is +0.7902 6.
and Sum of Squares of Rank difference (£D?) is

60, then the Number of Pairs of Items (N) wi.ma
hﬂ x - ..'.l
(1) 15 (2) 10 "_tﬁ.

(3) 12 (4) 14
(5) Question not attempted

7. During the vouching of remuneration paid to 7-
directors, the auditor should examine adherence
to relevant Section(s) of the Indian Companies
Act, 2013 such as -
(1) Section 197(1) (2) Section 197(5)
(3) Section 197(6) (4) All of the above
(5) Question not attempted

8. In a series, the difference of the two Quartiles is 8-
25 and their sum is 57. If the value of coefficient
of skewness is + 0.4, then the value of Median
will be -
(1) 335 (2) 235

@) 41 (4) 32 :
(5) Question not attempted @

9. As company auditor, give your opinion as
which of the following categories of shares can
the company issue at a discount as per the
provisions of the Companies Act 2013?

(1) Public issue of shares

(2) Issue of Rights shares

(3) Issue of sweat equity shares
(4) None of the above

(5) Question not attempted

10. What is due date of filing the return of income in 10
case of a person other than a company whose
accounts are not required to be audited under the
Income-Tax Law or under any other law?

(1) November 30 of the assessment year

(2) October 31 of the assessment year

(3) July 31 of the assessment year 2

(4) June 30 of the relevant assessment year :—|I:E:.
(5) Question not attempted FERRS

1. Given— : 11.
AB = 160, Ab =40, ab = 360, aB = 440. What is
the value of N7
(1) 960 (2) 1000
(3) 480 (4) 520
(5) Question not attempted

afe Fife WEwEA TUE +0.7902 T HEERT
@ @l AT (ED?) 60 B, dl ge—grHf &)
HET (N) B1fT —

(115 (2) 10
(3 12 (4) 14
(5) srqaie we

FrRwe! #1 qra e v mRafie & geme
® ERME, deEd B ARGE FIN smfaE,
2013 % Uil Gy ERe) & ares @ wiE
HE! TR, S —

(1) &1 197(1) (2) v 197(5)
(3) &1 197(6) (4) Su=raer wft
(5) araiE weA

e A F g1 aqeiet ®7 siaw 25 8 ek g
AT 57 2| aft Rewar oie w1 99 + 0.4 &,
a1 AIfeaHT H A BN —

(1) 33.5 (2) 23.5

(3) 41 (4) 32

(8) syl wed

Ut | IbeTd B w9 g g A
H e A 9w Aot @ s @
s 2013 & gauEl $ OON, 98
frtfe we wad 27

(1) e &1 &9l &1 P

(2) sty 3w &1 Frfae

(3) W it afwii @1 frfag

(@) Suey 4 o wrg T8

(5) =ity

FH @ e el s wfae o Refy
ara w1 Red aifae s Y Frag Rty 7 22
o1 @l &1 sy sffam o s
AR TE B FA DI ATIDHAT TS &7
(1) 30 5Fav= fFEmer ag &

(2) 31 sreaw fFufor ad @

(3) 31 Sled Ferior ad @

(4) 30 5 wrafr oy ad @

(5) srpaRa e

o ar -

AB = 160, Ab = 40,0 ab s= 360, aB = 440, N &1
| @ B?

iz

3

(1) 960 (2) 1000
(3) 480 (4) 520
(5) argaie e
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12. What statement is correct regarding Regression
Coefficient?
(1) The arithmetic mean of bxy and byx are

always greater than or equal to coefficient of "'..'.',.-:.I ﬂ
SrA @

correlation,
(2) Regression coefficients are independent of
origin but not of scale.
(3) Both regression coefficients have same sign.
(4) All of the above
(5) Question not attempted

For which of the following institutions is there

greater need for social audit?

(1) Social organization (2) NGO

(3) Non-profit (4) All of the above
Organization

(5) Question not attempted

Coefficient of correlation determined by

concurrent deviations method indicates the

following result only -

(1) Direction of co-variation

(2) Degree of co-variation

13.

14.

(3) Degree as well as direction of co-variation
(4) Neither degree nor direction of co-variation
(5) Question not attempted

12. gl e @ e | FEe aen e a?
(1) bxy @2 byx & ¥AFR HEY R
HE—T/ TONE & a¥Ey Iq7 s B
wire N qa-fag W w@aa € fa
e AIETS | A |
(3) St Wit enet @ WA e B #)
(4) SwE Wit
(8) srgwiva weA
13. el % § @ g @ e amfoe
e P Il JfE e 82
(1) |wifs weq (2) TS
(3) IR e wreT (4) Sudem w4
(5) araiRa weA
4. il fawen A g™ wa AewE UG
daet P aRom ) SR Hea we § -
(1) we—aRads & R

M (@) we-Rada @ A
el (3) we-oRadw A e ek R

(4) we—uftad= =Y 7 o7 qm@=n 3w =7 & R
(5) srERa e

15. Between two variables X and Y there will be 15 &1 *R X @2 Y & o0 @9d U@ &1 wiomm
only one line of regression, if.................... Y g, AR
Mr=0 @r=+1 Mr=0 @ r=+1
r=+lor—1 @) r=-1 @ r=+lor—1 4) r=-1
(5) Question not attempted () sreiRer WA

16. No custom duty is to be collected, if the amount 18- If% w& Ay R .. B, T DI
of duty leviable is - AT Yew T8 ae S |
(1) less than or equal to T 1000 (1) 1000 TH 7 T7 THD AWER
(2) less than or equal to T 500 (2) 500 TS 5 a1 IHD AXTET
(3) less than or equal to T 100 (3) 1007 $1 91 998 TET
(4) less than or equal to T 800 (4) R00 TH &9 U7 IHD AR
(5) Question not attempted h (8) arFpERta we

17. Rebate under section 87A can be given to such "# I 7% &Y T3¢ 9H W U5 aftc Fard Hem
individual resident whose total Tax liabilityisup &1 87A & 3T Be & 1 wadt &,
R in Assessment Year 2023-24 in T B qI0d % iR af 2023-24%
new Tax Regime. s i BE
(1) T 10,000 (2) ¥ 12,500 (1) 10,000 (2) 12,500F
(3) % 20,000 () T 5000 (3) 20,000 (4) 50002
(3) Question not attempted (8) argeifa wed
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18. Examine the following statements -

19.

(A) To ensure that the payments were properly
authonzed.

18.

(B) Ascertain that they were entered under df:@

appropriate head of account in the ¢ .

book.

(C) See that the payments relate to the business
and are a proper business charge.

(D) Determine that the payments stated to have
been made are supported by the required
documentary evidence.

Which of the above in your opinion are the

objectives of vouching the payments side of the

cash book.

(1) A and B only (2) A only
(3) A, B and C (4) All of the above
(5) Question not attempted

According to Insurance Company Act, 1938,

Accounts and Statements to be prepared m!ﬁ
=
b | [

end of year are........... £

(1) Revenue accounts

(2) Profit and Loss Account and Profit and Loss
Adjustment a/c

(3) Balance sheet

(4) All of the above

(5) Question not attempted

- Shiva is a retail trader of textile goods at Indore.

His turnover was T 80 lakh for the financial year
2022-23. He has opted for composition scheme
under GST. How much is the amount of tax
payable by him?

(1) IGST T 40,000 and SGST T 40,000
(2) CGST T 40,000 and UTGST ¥ 40,000
(3) CGST T 40,000 and SGST ¥ 40,000
(4) UTGST T 80,000

(5) Question not attempted

18.

=1 st &1 gk Ay —

(A) e Sfia wu @ sfdga 8, vg gt
BT |

(B) e FMAf¥as sva1 & 9= Jwe 98 4 Sfa
¥ii® & st g faar Tar &)

(C) 7E e & o =awm § gt &
g 9% Sfua w9 § 9ot o )

(D) ¥% e e & e o BB
9 e WA A g At

IE A H IRE § W B dee 19 @

AT Y& BT THIO Y P S & -
(1) Fae A 74 B (2) Faa A

@A BTEC (4) Suvre
(5) argaifta e

A BEET ARFEE, 1938 @ SER, a8 @ o
... T T w01 w3 SR Y ST E |
(1) amama @

(2) srr—e1f @ iR em-a1 aEEoE @
(3) fagr

(4) ST ot

(5) argefta wes

frar §ER # ®uer wmE w1 gEw A #)
fcfg @ 2022-23 & fom w5 edeimR
80 o T 1| 994 SiEdl & aEa Suriee
W H1 fAwer g 3| I9P gN 37 IR B
e fa- 87

) smdofeedt 40,000 el THWiTHES
40,0003

(2 Fofreadr 40,000 T3l gEelwe
40,000 %

(3) HiGiTHeEr 40,000 T 3 TwOiTEET 40,0002

(4) géroiewd) 80,000

(5) argmRa oA
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21. Following requirements have to be satisfied in

order that an assessee is entitled to claim
deduction on doubly taxed income - -

21. e FHIERT BT SENT FY FRIOT 3T U8 FHeral

(1) The assessee must have been resident in [nchq ,..p-

in the relevant previous year.

(2) Income must have accrued or arisen to him
during that previous year outside India.

(3) In respect of that income which accrued or
arose outside India, he must have paid by
deduction or otherwise Tax under the Law in
force in the Country in question.

(4) All of the above

(3) Question not attempted

22. The Verification of assets implies an enquiry
O AR S
(1) the value (2} ownership and title
(3) existence and (4) All of the above

possession

(5) Question not attempted

23. For which Moments, Shepherd's correction is nul":
necessary?

(1) Moments | and 2 (2) Moments 3 and 4
(3) Moments | and 3 (4) None of the above
(5) Question not attempted

» Which  statement s

management audit?

(1) Management audit concerns with the quality
of managing.

(2) Management
management,

(3) Management audit is focus on quality of
decision making.

(4) All of the above

(5) Question not attempted

correct

regarding

audit is auwdit for the

- There is a greater possibility of errors and frnﬁa'rn ;’*

remaining hidden -

(1) in Routine Checking

(2) In Test Checking

(3) Both in above 1 and 2

(4) No possibility in above | and 2
(5) Question not attempted

oL

24.

@ | & forg Fre=ifea sraeamanl 91 \gite

FA Bl —

(1) @erar wafee o o § gwa F Fasd &8
il

(a8 amg wa 98 § 9ra & ey gufela
Herd] 954 g% 8|

(3) &1 s 99 YT @ 49} guifeta a7 989

g4 & 9% Wag ¥ 99 @Ik sl v |
wHaftra <9 % oL S g@r RBar e

(4) o Wit

(5) arafa wes

wrfergt & wenge &1 aed, fore aeafat @

.......................... % AR | witg & A |

(1) gz (2) vanfire wem waeg

(3) frerreT va (4) gufae ¥
rfereor

(5) sgaia weA

frm it & g 9w &1 gaRE smEvge
T &7

(1) gfRema 1 vd 2
(3) gitama |1 w9 3

() arg=iRe 9o
WA JHEV B T § BT HUT e &7

(1) way sicheror waEE @1 qUIET § W |

(2) yawr sigeror wawe @ fog afahemr |

(3) wawr aiseror Fof oW A orEET W B
g

(4) It Wit

(8) sgoiRa v

Il @ vE-FUe F BY WA W IRe

AT & @ R -

() s ity A

(2) gdheror wite A

(3) wuaw 19 2 <4 A

(4) Sudaw 19 2 <A & weEEr T8

(8) sFpaiiRe WA

(2) ufere 3vd 4
@I 4 4 F12
B
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26. Assumptions of analysis of variance are- 26. gweor Rvemu & Argan € —
(1) Normality (2) Independence (1) A (2) =
(3) Homogeneity and  (4) All of the above (3) woreger vd (4) TuRrET Wit
additive property HaTeaar
(8) Question not attempted (5) srfeiRer wee
27. In multiple regression, the number ﬁ" 7. gl yweTHe | wadd v @) W e
independent variables will be............ccooeree. s
(1) Zero (2) One (1) = () T
(3) Two or more (4) None of the above (3) =1 71 @ %ﬂﬁ G
5 :
(5) Question not attempted ) B o
28. Madhu acquired a capital Asset on 1* April, 28 q 1 3iE, 2022 ® U G wule @
2022 and used it for production of exempt far 3t gweT SuarT 9o g el

supplies only. Now, in November 2023, his
supplies become taxable. The cost of the asset
was ¥ 6,50,000 and GST 18% was charged on it.
How much net Input Tax Credit (ITC) would be

Fgfet @ Sarea & foe @) sm, 9ax 2023
H wAe g ax At 8 sl Ry @
HiFa ¥6,50,000 2 3R IH 9N 18% WITHD

ST T °vy w1 e gl e
available to Madhu? o Bfee %ﬁ;ﬂﬁ? =
(1) T 46,800 (2) T 40,950 (1) 46,800 % (2) 40,950 %
(3) ¥ 76,050 (4) ¥ 70,200 (3) 76,0503 (4) 70,2003
(5) Question not atempted (5) sl wes
29. Tax audit was first introduced with eff Al IR # @Y Iipeor UM WHEL........H
B, i in India. 7 I

(1) Assessment Year 1987 - 88
(2) Assessment Year 1985 - 86
(3) Assessment Year 1986 - 87
(4) Assessment Year 1984 - 85
(5) Question not attempted

(1) &= fAeivor a9 1987 - 88
(2) v e ad 1985 - 86
(3) ®% FErivor a9 1986 - 87
(4) He e a8 1984 - 85

(5) srariver ue

rl--‘.

30. Which of the following statement is correct? 30. fFym # | Wi HYe wh &P
(1) Casual vacancy in case of resignation of (1) 3P & S & AMS | snefers Rfd
gl v il Bl i o0 o # Frewe e g 9 |
(2) Casual vacancy in case of Government @ . W o A
Company shall be filled by Central 90 fa=t # d wYwN gwr 7 g
Government within 90 days. () srafas Rfda &1 3 & sefee ™ 89
(3) E;sual vacancy m;::an:-: a vacancy that arises # are Rfe o= 2 &)
er completion of the tenure. (@) W § v et
(4) None of the above =
(5) Question not attempted 3 (5) srgeia e
31. What is the maximum rate of IGST on imported 31 3muifaE wiat W ol Mg WUEE. ¥ =
goods? 7 87
(1) 28% (2) 18% (1) 28% (2) 18%
(3) 40% (4) None of the above (3) 40% @) %ﬁﬁ 9w A
(5) ti t attempted :
Question not attempt (5) .
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32. What is threshold limit of gross receipts for tax 32 dfF7 I=ie & weam | 95% 1 sifers amaRs

3r.

audit of accounts of a person who carry 95% or

more business transaction through i:u.r1.11lan'|\g":E1
channels? -
ﬂ»
-u;':

(1) 10.crore (2) 1 crore
(3) 50 lakh (4) None of the above
(8) Question not attempted

- Under which the work performance is checked

as per larget and standard?

(1) Management audit (2) Proficiency audit
(3) Performance audit  (4) Propriety audit
(8) Question not attempted

- Which is contingent liability?

(1) Bill discounted but not matured

(2) Uncalled amount on partly paid investment
(3) Above (1) and (2) both

(4) None of the above

(5) Question not attempted

Dr. Pratibha (Resident and age 82 years) is 2.5

doctor. Her taxable income for the assessment
year 2023-24 is T 4.84,000. What will be her tax
liability in old and new tax regime respectively
for the assessment year 2023-24, if cess is not
considered?

(1) T 11,700, Nil (2) Nil, T 11,700

(3) 23,400, T 11,700 (4) T 48,400, T 23,400
(5) Question not attempted

At present. Minimum Alternate Tax (MAT)
Provisions are given in Section ... of
Income Tax Act, 1961.

(1) 1151A (2) 115JB

(3) 115JBA (4) 115A

(5) Question not attempted
What is the due date of filing the retum

Il

income in case of a company? = .-ti

(1) 31" October of the assessment year i

(2) 30™ November of the assessment year
(3) 31" August of the assessment year

(4) 31" July of the assessment year

(5) Question not attempted

WA S aiel @ifde @& Wil @1 @Y e
@ e e wiftaet @ @ &7

(1) 10 &¥s (2) 1 #3
(3) 50 ciTe (4) wazfwn # F HIE T
(5) sreile e
- WY TEES D FEIFER U4 AESEER Wi
foe sreete @1 Sl 87
(1) g sl (2) fqoTen sigeToT
(3) fafer sramerol (4) siiferer aidao
() e we
- i wfew arieE @7

(1) s A @i smiua fae

(2) fafrar gz 9 wift = of¥ & v A
S IE

(3) SURIaRT (1) vd (2) &1

(4) et § | ua o)

(5) srgafa e

St e (Parh vd 9u 82ad) Wit 6 Sieex 2

Feet @ Auiver 94 2023-24 & fow & A0

A 4.84.000 TR | B¢ Feiwor a9 2023-24 @

fore gl va A B aEwn @ STER. @R

Zifeq a1 BT, afe &Y UWR @) T § A I

e

(1) 11,700 T, Nil (2} Nil, 11,700

(3) 23400F, 11,700 (4) 48400T , 23,4003

(8) arafta wwE

- g H, WHETH dBfead Y (MAT) 9TaEr

HTET AEATE, 1961 B SR o _H
fam g &)

(1) 115JA (2) 115JB

(3) 115IBA (4) 115A

(5) srqeaiver we

. e a @ are | ang A Rl gifae

@ @1 fraa akra g &2
(1) feieor 9 &1 31 sidgas
(2) fFeiRor ad @ 30 HaR
(3) fRerivor &g &1 31 ST
(8) FEivor ad @1 31 g

(5) sraiRe we
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38. What is not included as voucher of wage paid? 38 HoTgdl qAH & WAV H e T8 & -

(1) Salary book (2) Job card (1) 47 gead (2) wifa =
(3) Attendance card  (4) Wages Table/Wages & aré () Fo10
st dtferet / wote)
M1 x
T+
(5) Question not attempted e (5) argeiia e
39. Which of the following will be treated as mmr-LE % U9 991 Y fAUE 2017 & ATER,
state supply as per Integrated Goods and Service ‘?l A faa sfav—arsira amgfd s

Tax Bill 20177 ST
(i) Supplier in Kanpur (U.P.) and supplics made (i) ;Ev (@) # smgfdwal iR ®=1 &
CARIER

to Canada.
tiijl(fgnich imported by a company in Delhi from (i) Reh ) v Fh g guwv W sk
(ii1) Supply of goods by a supplier in Kamataka (iii) aﬁﬁal—qi # we amgfiedt gw dée (@3
o Ch{andigmh‘{llni?n Territory). onftrT waw) @1 M 2 3
(iv) Suppliers received in Domestic Tariff Area !
from a Mahendra SEZ unit located in Jaipur, (zv) SRR ﬁ ﬁqﬁ 7E5 TS g | m
Choose the most appropriate option - ‘éﬁtﬁ &3 H R W'
(1) i), (i), (iii) and (iv) (@) (i), (ii) and i) g Ar Sl o
(3) (iii) only (@) iy and (i) (1 ':f}'_' (i), (iii) 3R (iv) (2) m (ii) Gi_'F‘?.{m}
(5). Question not aticmpted (3) (iii) Faa (4) (ii) 312 (iii)
(8) argerta wee
4. 1f in a distribution, Arithmetic Mean and 40 ﬂﬁ el faeror | wapian e aff TuireR A
Geometric Mean are 32 and 40 respectively, then 58 = waer 32 ofiR 40 81 o veE Ama @1 A
the value of Harmonic Mean will be - = BT —
(1) 44 (2) 36 (1) 44 (2) 36
(3) 50 (4) 35.56 (3) 50 (4) 35.56
(5) Question not attempted (5) srpele wes
41. Effective date of forming an opinion and #. f=fg Rawor vt g wa wifae e vd R
reporting on financial statements (SA 700) 24T (SA 700) &1 gardy fafer &
Bicccssarsonssanes (1) 1 ad&, 2010 (2) 1 ardta, 2013
(1) 1 April, 2010 (2) 1" April, 2013 (3) 1 &t 2011 ) | w2012
(3) 1" April, 2011 (4) 1" April, 2012 (5) st

(5) Question not attempted
42. No tax is to be deduced at source if the amount  42- Fg7H wrH W WY H Sl G680 @, af?
credited or paid to a contractor during the SEIR B Hafd TG a9 # qIaET A 7 e

relevant previous year does not exceed - Rk R e A | A . |
(1) T 30,000 in a single payment or T 1,00,000 in s et & | .
the aggregate during a financial year. ( T b Sk H 30,000 X T W i
(2) 1,00,000 % mf;;“ L90.000
(3) T 60,000 in a single payment or T 1,25,000 in : (3) W W # 60,0003 Fe wEh R
the aggregate during a financial year. ad & gEd 1.25.000F .
{4} < 60.000 {4:. m'm
(5) Question not attempted (8) eIl we
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45.

43. On which type of donation 100% deduction is 43
permissible under section B80G for the
Assessment Year 2023-247
(1) Prime Minister Drought Relief fund
(2) National Defence Fund etk
(3) Indira Gandhi Memorial Trust =
(4) Jawahar Lal Nehru Memorial Fund
{5) Question not attempted

» Coefficient of correlation between X and Y is 44
Zero, if both variables -
(1) Move in opposite direction
(2) Decrease together
(3) are paired randomly signifying absence of
inter-relationship between them
(4) Increase together
(5) Question not attempted
Given - 45.
Group Number(N) Arithmetic Mr.nn[;} Standard
Dﬂwauonmj
A 30 50

47.

B 20 40

The combine Standard Deviation for the abﬂvel -?J 1— BT —

two groups will be -

(1) 4.5 (2) 4.43
(3) 6.6 (4) 5.12
(5) Question not attempted

- The additional reporting requirement under

Cnmpamew (Auditor's Report) Order, 2020

18 evesbadan for an insurance company.

(1) Applicable in special circumstance

(2) Exempted by the approval of Central
Government

(3) Mandatorily Applicable

(4) Exempted

(5) Question not attempted

"It is no part of an auditor's duty to give advice

gither to directors or shareholders as to what they

ought to do". This decision was given in the court

case of - :.

(1) Westminster Road construction company

(2) Allen Craig and Company

(3) Re London and General Bank

(4) Kingston Cotton Mills

(5) Question not attempted

-

v iR a9 2023-24 9 59 519 R 9T 80G
& aeaita 100% 31 B Suae £7

(1) W= g e F

(2) 3T gT P9

(3) gfewr TRl WIRT T

= (4) FEEY A6 BT WING $Y

(5) argwifte wes

X 3R Y& @9 ve—was uiE I g g,

gf% s = 5e.....

mﬁwﬁﬂﬁm#qﬁaﬁﬁz‘m%

(2) \re—amy wed &

(3) argite® w9 7 g g 2 e S
SFEN—EAT @ SFuRefy T s B @

(4) wre—aTe 95 ¥

() srqoiie weA

foar 7 —

wm{N}'ﬂﬂﬁﬁ Aea(x ) AFE fFEeno)
30 50 4

20 40 5
maﬂﬁaﬁma‘gﬁwﬁﬁm

(1) 4.5 (2) 443
(3) 6.6 (4) 5.12
(8) areia W
46. FHur (sfifeed Ruid) amdwn 2020 ¢ a8q U@
dm @un @ fav afoRem Ruofdnr &
FEIHL............ 2|
(1) o aftfefy # @
(2) ¥ @= WWHR B Fo 9 B
(3) sifard w9 | @
@) ¥ uz & T
(5) afRa e
47. fRel a1 AYRD] @ T FATE S DD
3 wud o e 98 2, fF 9= T @wn
Lﬂr;l?ﬂ"nﬁﬁruiwﬁmﬁiﬂﬁww
*qT.
1‘:{1}%&&@%%@4’[
(2) ger 7 T8 T
(3) ¥ dga T4 WRe 4@
(4) frres i fiew
(8) aFaRa wed
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48. EPCG stands for -
(1) Export Promotion Capital Goods
(2) Export Promotion Capital Gains
(3) Export Promotion Capital Growth
(4) Export Prohibited Capital Goods
(5) Question not attempted

49. Which of the following types of evidence is least

reliable?

(1) Oral representation by management which it
refuses to confirm in writing.

(2) Documentary evidence originating from an
independent third party.

(3) Oral  representation by  management
confirmed subsequently in writing.

(4) Attested photocopy of original documents.

(5) Question not attempted

30. When cost auditor is to be appointed?
(1) Within 180 days of commencement of every
financial year.
(2) Within 30 days of commencement of every
financial year.
(3) Within 30 days of Annual General meeting.
(4) Within 180 days of commencement of every
calendar year.
(5) Question not attempted
51. Classification of export and import goods is
based on the -
(1) Concept of Harmonised System of
Nomenclature
(2) Essential Character Principle
(3) Later the Better Principle
(4) Concept of Specific Identification of goods
(5) Question not attempted

52. Two dice are thrown two times, what is the
probability of getting a total of 7 in first throw
and 10 in second throw?

(1) L (2.5
72 108

(3) 2 (4) &
108 36

(5) Question not attempted

48. EPCG 1 el & -
(1) Frafe sk Sofrma awqt
(2) Frafer wadw Goft @™
(3) fFrafe waelw Iofrma afg
(4) Frafa fftg o ol
(8) argafie weA
49. fpfofaa % 9 9w w99 o9 Reawia

s 82
%{ﬂwmﬁ\mmﬂmﬁaﬂwm

1 e foraa w9 9 gfte s § s9ar
v fear 7

(2) v e G 9 | U gl e |

(3) yawere g1 AifEs wegeraver e g ¥
foftra wu 9 gfie @t 78

(3) W xS B W wrer wfaferd |

(5) sraRe weA

50. e simer @ Fgfie 89 wfiy —
M uds fada af & wrow & 180 R &

A |
() v faeira af & wewy 9 30 =7 & Faw )
(3) e ama W & 30 R & Ao
@) 7% devey A & gRer F 180 R @
g,
(5) el wes

5. g iR e areh awgell & affewm
amenf¥a 8 —
(1) =oHeor @) EHTEPT Yt @ araEmon

w

(2) amavgs afta faga w
(3) @rg aren FEeR faga W
(4) Twsit o RAftre gggm # sEuRo w®
(8) arqeia wea

82. T U BT AR BB WM W Yl A 7 3R gEd
aR 10 WIS 89 @) = Widar 87

(MnL (2) &
72 108
{31 & 4 &

& {ﬂmﬁaﬁq =
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53. Given -
Price(¥ ) Quantity
Demanded
(In Units)
Arithmetic Mean 50 70
Standard Deviation 4 5
Correlation Coefficient r=+0.88

Estimate the likely demand in nearest units when

¥ () At g "
(g )
AR HIEd 50 70
Wﬁrﬂ'aﬂ 4 5
ﬁE—‘ﬂi‘H r=+0.88

price =T 62
(1) 83 (2 82 T P gz .
(3) 86 @ 78 e il 7
(5) Question not attempted i
54. Given - 54. Ry war 8-
B B B Bi B B
A 7 6 8 Aj 7 6 8
Az -4 -3 9 Az -4 -3 4
Az 10 5 =2 As 10 5 -2
What is the value of Game? WS @ T A B?
Me (2) —4 16 (2) —4
(3 10 (4) 9 (3) 10 (4) 9
(5) Question not attempted (5) arEfe we
55 If x = 60, median = 58, coefficient of skewnessis 5% I¥ x =60, HRA®T = 58, v ToTF = 0.50
0.50 given, then what would be the value of f&ar mar & o yAw fAEes o BT
standard deviation- ™ 12 @ 15
(112 (2) 15
spa d3) 6 (4) 10
3 6 @ 10 E_?;EE] R
(5) Question not attempted iy
36. In GST, refunds will not be allowed in case of -~ 56. SRTHA @ arrla o e A AR A8
(1) Exports made on which export duty is levied a:' e, afd -
(2) Exports made without payment of tax i ? R Rore b
(3) Inverted dl.lt‘j' structures where tax on il'lplllﬂ (2) ﬁq‘[ CiTd grﬁn’q & T ﬁ?ﬂﬂ'
are higher than tax on outputs () g&ET Yo WEN WEl W FAYgE W
(4) None of the above Wﬁﬁw 2
: (4) St # 8l
(5) Question not attempted A
Question attemp (5) . 1
57. When is Discriminant Analysis Technique used? 57- fadie® favegwr aa-ile &1 wamT o9 gar 22
(1) E:g:i: Variable is non-metric and (1) w7 s =Y i @e ArfvTe 8|
(2) Dependent Variable is metric. - i . b il
1 : (3) 513 w@ds WY -Ardy 8@
(3) Independent Variables are non-metric. .
(4) None of the above | 1-” ST A | Y T
(5) Question not attempted (5) srgeiiva e
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58. An assessee who declare his business/profession
income uider section 44AD(1) or 44ADA(1),
has to make payment of advance tax of such
income -

(1) In 3 instalments  (2) In 4 instalments
(3) In one instalment  (4) Every month

(5) Question not attempted

The formula " fﬂf " is used for the calculation

of -
(1) The standard error of proportion of successe
(2) The standard error of difference between
SUCCESsses,
(3) Above 1 and 2 Both
(4) None of the above
(5) Question not attempted
- In the least square linear trend equation
Ye=a + bX, if 'b' is negative, then it indicates -
(1) Initially rising but later declining trend
(2) Initially declining but later rising trend
(3) Rising trend
(4) Declining trend
(5) Question not attempted

61. Which one of the following pairs is not correctly
matched?

(1) Kelly's Price Index - Py, = 1 4 x 100
(2) Marshall — Edgeworth's Pncc Index -

IPigy . EPyay
Por = EPage  IPoay i
(3) Laspeyre's Price Index - Py, = g:‘q" x 100
(%) paasche's Price Index - Poy = g:ﬂh % 100

(5) Question not attempted
Which of the following is covered by the term
“exempt supply” under Section 2(47) of the
CGST Act, 20177

(1) Supply attracting ‘nil’ rate of tax
(2) Supply exempt under Section 11
(3) Non-taxable supply

(4) All of the above

(5) Question not attempted

58.

It | o

61.

62.

US HNETaT AT U ATaEias /99 B A\
HqRT 44AD(1) AT 44ADA(1) & =g Hifte
Bl B, U AT IR AW B B A S

e —

(1) & et # (2) a farea #
(3) v fopee 3 (4) yir® H1E

(5) argafa ue

" %"ﬁ?ﬁtﬁnféﬁmﬁma‘vmm
DGl

(1) et @ U @1 W Ffe & fo
(2) FEeaR & IR B g Fe B o
(3) 9ugad 19 29 & forg

(4) Sudad & 9 1 T8

(5) s we

A i d ugly @ Ye=a + bX ¥,
afg b FwoneTs 2, o 98 3 wvan & —

() wren 3 gfg < @ 4§ Aree 6 ggfy
(2 g1 ¥ fivmae «fds ag 4 g 9 wgfa
(3) wadit wgfy

(4) fimrae @1 wafy

(5) ey W

e & e Sier W@ At 8 87
) 3t e gowia — Pm.—zpﬂxmﬂ

{E}Wﬂamﬂww—

Pida . EP1qy
Pyr = ZP1do = x100
ot ZPoqp EPgm

©) s e qEdi® — Py = 223 x 100

@) g9 v EHE — Py =
(5) s we

fr=ferfaa & & @17 Wofiad affmm, 2017
i GNT 2(47) & TEd “H—qh gfd’ w= B
ferfer amar 27

(1) agfd u% FR @ YA & AT B

(2 gmr 11 & T8d F—Fm Af

(3) fv—apx AT anyfi

(4) SudrerT o

(5) argefa we

El’ﬂh
SPea *x 100
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63. Which method of interpolation and extrapolation
is used when the number of items in a variable
are less 3 or 4 and difference in independent
variable is either uniform or is too less?

(1) Newton's method of advancing differences

(2) Parabolic curve method

(3) Direct Binomial Expansion method

(4) Lagrange's method

(S) Question not attempted

64. When exemption of house rent allowance
available?

(1) When employee lives in his wife’s house
where rent is regularly paid by him through
bank transfer.

(2) When employee lives in his own house.

(3) Rent paid is less than 10% of salary.

(4) When employee lives in relative’s house and
he does not pay rent.

(5) Question not attempted

65. Which of the following is not a method of
sampling?

(1) Stratified Sampling (2) Desired Sampling

(3) Purposive Sampling (4) Random Sampling

(5) Question not attempted

66. Deduction ufs. BO0JJA
assessee -
(1) Sets up an industrial unit in a backward area.
(2) Is engaged in agriculture business.

is available if the

processing biodegradable waste.

63.

o

(3) Is engaged in the business of collecting ant'-',fl_'-:
="

(4) Is engaged in scientific research.
(5) Question not attempted

67. What should be examined by the auditor while
conducting audit of staff provident fund of an
educational Institute?

(1) Salary Register

(2) How collected funds are invested
(3) Amount contributed by Institute
(4) All of the above

(5) Question not attempted

88. Punishable crime is -
(1) Tax Management
(3) Tax — Evasion
(5) Question not attempted

(2) Tax — Planning

67.

(4) Tax — Avoidance |} 1.:

S U SRV @ e @y o gamr
T T8 URT D W& FH 397 4 B SR wad
¢ Hol # aftrmaY WA Ud oS e 817
(1) =1 & aifim s

(2) qgerfas an ff

(3) weay fgus AR A

(4) erit=a faf

(8) arpeife v

Heple fRran o @ Be 9 SuTer Bl 87

(1) 5 FHEN IO 9o @ AHM H el @
el a8 Fafie w9 9 e 86 swor
| gaEm ¢

(2) 8 HHeT 307 W & qHH A = B

(3) garan a7 fHvrar 9a9 @ 10% | &9 8|

(4) 5 FHaN TRl ® AeE § YEar & au

faerar =t g 81
(8) srpeRa weA
%ﬁwﬁﬁqﬁﬁﬂmmw&ﬁﬁﬁ
?
(1) wifta ufrera= (2) gifeq g
(3) stvayel wfeems  (4) argfees uftegs
(5) argeifa wea

gRT 80JJA & Ted ®erd] SUad €, afg

fFraffedt —

m?ﬁ%fﬁwaﬂﬂ‘rﬁmmﬁmm
|

(2) Y syawm § @ gon 2

(3) Frafsteas o @ THd FE 3N
YRIERNYT & WIAATT H ST B |

(4) Gsfa ST W o gen 2

(5) srgiRe we

e NeEfrE TR F wE WiEeve BUe &

%':ﬂ%mﬁﬁwmﬁaﬁwuﬁmm
P

(1) 999 qvas a1 orvey

(2) v B &1 fafFram &9 fear T
(3) e g &) a eeEE @ af
(4) Sufa @i

(5) argerive wed

TUEHIY STURT & —

(1) X wa=A (2) #v g
(3) T — FuE=Es (4) % — wura
(8) srgeiRe wes
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69. How much amount can be donated in cash for

71

73. Which of the following statement is not correct

claiming deduction u/s 80 G for A.Y. 2023-24?
(1) T 2000 (2) T 10,000

(3) T 1000 (4) T 5000

(5) Question not attempted

L
A negative coefficient of skewness implies mﬁ
(1) Arithmetic Mean and Mode both are eq

o —1.
(2) Arithmetic Mean is less than Mode.
(3) Arithmetic Mean is equal to Mode.
(4) Arithmetic Mean is greater than Mode.
(5) Question not attempted

Gifts not exceeding .........cccceeeenat in value in a
financial year by an employer to an employee
shall not be treated as supply of goods or services
or both.

(1) ¥ 1,00,000 (2) T 5000

(3) T 25,000 () ¥ 50,000

(5) Question not attempted

Which algebraic method of interpolation and
extrapolation would you apply for extrapolating
the population of Rajasthan in 2021 on the basi

of the following data -
Year Population of
Rajasthan (In crores)

1961 2.02

1971 2.58

1981 343

1991 4.40

2001 5.65

2011 6.85

2021 2

(1) Direct Binomial Expansion Method

(2) Newton's Method of Advancing Differences
(3) Newton-Gauss Forward Method

(4) All of the above

(5) Question not attempted

(1) Verification is a part of valuation.
(2) Auditor is a valuer.

(3) Valuation has nothing to do with verification.
(4) All the above are not correct

(5) Question not attempted

7.

R

73.
ﬁt

Fv Fuiver af 202324 & fo0 am1 80G &
gﬁvﬁﬁmﬁ#wﬁrmmmzﬁwm
?

(1) 20002 (2) 10,000 T

(3) 1000T (4) 5000

(8) sl we

fwaan &1 THREE e § aed & —

(1) FAR WY U9 qgE® a1l - | & Ay |
(2) wT= 7w 9ge® W B B

(3) FHIIY WEd 9ESTd B aviaY £ |

(4) FaFOR W dEdd @ IfEE |

(8) argeRa wes
wﬁmﬂmwmﬁﬂﬁwﬁ?ﬁﬂ
q . o R G

11:-1‘1
maﬂwmmmﬁaﬁw
w0 H TE AT AT

aq
#
%

(1) 1,00,000% (2) sp00 %
(3) 25,000% (4) 50,000%
(8) srgaiRe wes

=1 vew wHeT @ AR W A9 FEIVE UG
qrErIE @ e dremferdta $fa gwr |9 2021
:ﬁm AR B TEAEE B AEITIE

GL ] TTSTT ] ST

(et )
1961 2.02
1971 258
1981 3.43
1991 4.40
2001 5.65
2011 6.85
2021 ?

(1) wemer fgue—fawm A

(2) =e= F1 gaH—soy A

(3) =pEa—ifw s fey

(@) I9zfaer Wi

(8) srqeiee e
frafafaa # 9 o $u9 98 58 87

(1) e et &1 UE fRwr &

(2) sidherd Ue Aedie-wdr Bl &

(3) eI &1 qEIH W BIE Ao Al 8§ |
(4) SuRie w1 WET TE # |

(5) srg=iRE ue

40- 38

Page 15 of 32




74.

75.

76.

Vouchers for sale of fixed assets are.................
(1) Sale document of middleman

(2) Copy of sale deed

(3) Counter foil of receipt and correspondence
(4) All of the above

(5) Question not attempted

Al mputer installation contains 2000
cnmﬁnf identical nature which are subject

to f s per probability distribution that
follows —
Month End G S T e

% Failure to date 10 25 50 BO 100

What is average number of replacement per
month?

(1) 597 (2) 194.17

(3) 400 (4) None of the above
(5) Question not attempted

Sanwar is engaged in the business of growing the
coffee in India. He derived an income from sale
of coffee grown, cured, roasted and grounded.
Determine to what extent his income will be
taxable as business income in India. (Assessee
has not opted for Section 115BAC) -

(1) 75% of such income (2) 40% of such income
(3) & wsuch income (4) 50% of such income
() n not attempted

* What is the time limit for taking input tax credit?

(1) Due date of furnishing of the return u/s 39 for
the month of September of the succeeding
financial year or date of the furnishing annual
return, whichever is earlier

(2) One year from the date of invoice

(3) No limit

(4) 90 days from the date of invoice

(5) Question not attempted

An individual assessee is liable for advance tax

of T20,000 for the financial year 2023-24.

Mention the prescribed date of payment of

second instalment of advance tax and also the

amount of tax payable.

(1) 1 ne, 2023, 3000

(2) lﬁcmbﬂr, 2023, T 9000

(3) 1 ember, 2023, T 6000

(4) None of the above

(5) Question not attempted

74. el Ry o O & wHvE B

75.

(1) memer &1 A g

(2) fasra gafae & wiafef

(3) wifts @1 wfuvf vd ga—araer

(4) Sura w1

(5) et wed

P 7€ HRey AR § wHE gEh & 2000
Haed g 8, o e miftear oo @

yaR Awea & i § —

AqE & I "2 3 4 s

e aF % fawear 10 25 50 80 100
witwre sfraa wferemes &) v @ar &2

(1) 597 (2) 194.17

(3) 400 mw@aa#%aﬁ:{aﬁ
(5) argeiRer we

Hiay ARd A BIG I & BRIER H T g3

g1 9mE 2, i o 7, o ol fedt g B

@1 [ 99 oa g3 | FeaiRa & 6 wwa |

g F e ® U F IuP g fFa A

@ @& arg eeh | (FefRd 3 amr 115dvh

&1 fagey =181 91 8) —

(1) oeft ama &1 75% (2) Ut ama BT 40%

(3) &=ft ama &1 60%  (8) WY I FT 50%

(5) sRa v

gqe ¢av Mfse @1 9 wm d a7

() amr 39 & @ea Red uwga o & Faa
fafer o sl faef ad & faoar e &
fere & m afde Rl wegn &= & ffy,
uir ft 9Ee &

(2) rorp o1 AfEr 9 ve o

(3) w18 W T8t

(4) o @ ffE 9 90 2=

() sreiRer W

e effte wegmar fadia ad 2023-24 F 20,000

T afts & & e @ forg gl &) 9w g

siftrm v @1 i e & qam 9 Fuifa

fafer vg gu wftr aasy

(1) 15 5. 2023, 30003

(2) 15 foawam, 2023, 9000F

(3) 15 Feram, 2023, 6000 %

(4) Tuis | 9 H1E 61
(5) sreifRa WA

‘ m "

e
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79. What is the correct sequence of the following 79 aie # Prefeftas vegel &1 w8 #n @ &2

a1.

aspects in auditing?
(1) Special audit
(1I) Internal audit
(I1) Internal check
(IV) Annual audit
Select the correct answer using the codes given
below -

(1) (1), (1), (1), (AV) (@) (D), (1), (1), (AV)
(3) (111, (11), (IV), (1) (4) (100, (IV), (T), (IT)
(5) Question not altempted

- Which one of the following statement is correct?

(1).Secular trend cannot be curvilinear.

(2) When we shift the trend origin the value of
‘b’ remains the same.

(3) A second degree parabolic trend is expressed
by the equation - y = a + bx + ex” + dx’

(4) Time series analysis is confined to linear
trends alone.

(5) Question not attempted

[ 9
7= -
An employer provided free meal to his cmplnyc%‘:ﬁ

for which he incurred an amount of T 125 per
such meal. State the amount which is treated as a
perquisite for the employee and its taxable value
as per Sec. 115BAC of the Income Tax Act, 1961
for the Assessment Year 2023-2024 -

(1) T 75 per meal (2) T 125 per meal

(3) Nil

(5) Question not attempted

(4) 2 50 per meal

What is Dumping?

(1) Normal value in the exporting market is
greater than export price.

(2) Normal value in the exporting market is less
than expost price,

(1) fag afaeror
(1) SR afderoT
(111) 3= wita
(IV) aifiies aieheror
A8 R T whdl &1 SUEET ED HEl I
7T —

(1) (), (H1), (1), (1V)
(3) (1IN, (1IN, (TV), (D)

(5) srgaifita we

=1 8§ 9 @ weE wd Ee

(1) Su=ifY A A 8w |

(2) a4 &4 waft & S@RT B agad €, o ‘b
1 {9 a8l Bl B

(3) g fh waafie wafiy #1 F9ExT gRI
e far W # — y=a+bx +ox’ +dx’

(4) w1 A fvem dad YWas waft o &
wifae 21

(8) srgeila wed

U a3 A HHEN B HuE JieE g

forar e R 9wer ufey Wio 1258 &) i

wd #1| Hv Mo gd 2023-2024 § ferg

smaey AffIH, 1961 N EWT 115BAC @

FER, T B e e ® w9 H w0

H Al ¥ s 9wd W A g &

Teeld @ |

(2) (1), (I1), (), (IV)
(4) (111), (V) (1). (IT)

(1) 75 T wfey A= (2) 125 T ufa Ara=
(3) Nil (4) 50 T ufey =
(5) argeifa we

sftg = 7

() e o % e e, Pala e |
e 2 |

_ (2 frafe arorR F wmEre 5o Faia 5w s 6
oy

(3) Import price of goods is greater than i E

gl
(3) A1t @1 g e 9wa Pl ge 9@

export value. aifers &
:;:; Nomr: .{:-f the above II @) sudes % W PE A6
Question not attempt (5) sFeiiRer weA
40 - 38 Page 17 of 32




Which of the following is not an assumption of

the t-test?

(1) The original population from which the small
sample has been selected is normal,

(2) The sample has been selected by random
sampling method,

83. Fy=forfaa & 9 90 coflger @1 s 58

27

() 5o wmfte fSrad g oftes safa
TR, WEET # |

(2) uforesl agfes ufraas AR grr sufe
far T &

(3) The standard deviation of the population is == (3) wfte 1 v Rrees AR &
known.
&) afa
(4) None of the above EE: b B
(5) Question not attempted 3 e
84. Inspection of 20 samples of glass utensils, each 84 e & ad+l & 20 vyl R uade @
of size 100, revealed the total number of defects HER 1008, F Ffeor |4 oo s @ s
to be 80. A p-chart will have upper and lower BO T B3 B | UF p-urd 1 R AN SR WA
fimits - it — .
(1) 0.0596 ; 0.0284 (2) 0.0988 ; 0.0188 (1) 0.0596: 0.0284  (2) 0.0988 - 0.0188
(3) 0.0988 ; 0(Zero)  (4) 0.6279 ; 0.5479 (3) 0.0988 ; 0(Zero)  (4) 0.6279 ; 0.5479
(5) Question not attempted (5) srpafa we
85. Incomes of Companies Taxable @ 10% are- B5. FHEryl 1 A 10% B 7 W B Y B
(1) Long term Capital Gain u/s 112A on more (1) diefmrelm Goft @ 1,00,0003 A 3ife
than ¥ 1,00,000 gl 1124 & araia
(2} Income from Patent u/s 115 BBF o (2) 2vE ) s ue U 115 BBF & ot
(3) Income from transfer of carbon credit u/s 115 = (3) H= #f2e & =wiaer 9 aw 9w 115
BBG BBG @ srerfa
(4) All of the above (4) v Tl
(5) Question not attempted (5) sFpefa W
86. What do you mean by ‘Derelict'? - ‘uRErEET | ST @ e &7
(1) Any Cargo, Vessel etc. abandoned in the sea (1) H15 7rdl aEsd, wEm anfe fF agen
with no hope of recovery. wEE & wg A ere faar )
(2) Goods jettisoned from the vessel. (2) wrera A "ot w1E FrmEr T
(3) Jettisoned goods which continue floating in (3) P g3l Hiet i wE W AT vEar 8|
the sea.
(4) sudam % & @rd A8
(4) None of the above (5) argeta we
(5) Question not attempted
87. On which goods the importer is not ligble to pay  87. &% #rat o amya® Iew &9 3 e =@
duty? E 87
(1) llegal import of goods s paa e (1) 318 ayrnferer wier
(2) Pilferage of goods E (2) SrgEr (Pilferage) @1 #Tel
(3) Old machinery imported (@) qee R P S
(4) All of the above (4) 3w i
(5) Question not attempted (8) et we
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88. Different types of Assessment are - 88. v fuiRw & faft waw & -

91.

(1) Self Assessment (Section 140A) (1) w9 &% PR (@R 140A)

(2) Assessment on the basis of return of Income (2) 3 & 991 & AN W (AR 143) 907 A1
(Sec. 143) and Scrutiny Assessment on the & wary ¥ B o oS & s ww
basis of evidence (Section 143 (2)) e @mr 143 2)

(3) Best Judgement Assessment (Section 144) (3) wafaw Fiofa wv e @ 144)

(4) All of the above

; (4) SuRRE W

(3) Question not attempted (5) Gl":],ﬁﬁﬂ -

- In a locality affected by small pox, there were p-89-% 560 it 3 uw o< A, o) 99 &1 wey

560 inhabitants of whom 70 percent were = 8, el & 9 70 ufoe amspia &g € oiw 85

attacked and 85 percent were vaccinated. Out of uferere &1 ST o9 £ | EIhT S9ar 9 aZfaai
vaccinated persons how many at least were # ¥ H9 9 FH o 0 B R 99 Awa
attacked by small pox? 2rfr?

(1) 168 (2) 84 {1} 168 (2) g4

(3) 333 (4) 308 (3) 333 (@) 308

(5) Question not attempted (5) sreita W

Basic principles of design of experiments 90 AN 9 sifdea & amavd far & -
LR (1) argfediEwr & Rigr

(1) Principle of Randomization (2) gy @1 fET

(2) Principle of Replication (3) wrrir s @ frgra

(3) Principle of Local Control (4) ST T

(4) All of the above . (8) arRa 9%

(5) Question not attempted
Which of the following are discrete distribution? 91 fp=feifas § 9 #1949 agag (@fea) @29 &
(1) Both Binomial Distribution and Poisson : )
Distribution ::?_,tﬂl F'&”El‘i qge aﬁ? qu-}Fl UG ﬁ
(2) Both Poisson Distribution and Normal "1:_ (2) dfgee dee ok T 9 o
Distribution

(3) All three Binomial Distribution, Poisson (3) it fewe dew, digwe de ok | des
Distribution and Normal Distribution - -
(4) fBug e i 9mr 99 gET
(4) Both Binomial Distribution and Normal
Distribution (5) srqmiRa weA

(5) Question not attempted

The family of deceased employee is receivinga 92 faeiia av 2022-23 # i ¥ 9a& FHa &
pension of T 14.000 p.m. from the employer in g @1 uftame 14,0003 @ UvA e @ 8
financial year 2022-23. Compute the income to uaR & "ew & el uei / ey g arel

be chargeable in the hands of family member and A F TET HY A g A gaw Pl
also state under which head the income is taxable af 2023-24 & forw ama fm e § @ Ay
for the Assessment Year 2023-247 (Assessee has & W F a1 11SBAC &7 fiasr =8 o
not opted for Section | 15BAC). @ )

(1) T 1,68,000, Income from salary (1) 1.68.000% . 4 & &g

(2) ¥ 1,53,000, Income from other sources (2) 1.53.0002 R

(3) ¥ 1,18,000, Income from salary (3) 1.18.0002 . 359 § Y

(4) T 1,12,000, Income from other sources 1::"5 (4) 1,12,000% , 3571 =1 ¥ a4
() Question not attempted Eaj,- (8) sgmiie ue
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93.

7.

Under which heads study of Auditing 'Through' 93. Fwqer & g1 sidev &1 aegae 5 oinfai

the computer can be done?

(1) Test Decks

(2) Use of employer's computer programme
(3) Use of audit model

(4) All of the above

(5) Question not attempted

= If Book profit of a firm are insufficient or th

is lnss, the sanctioned limil of remuneration to

partners is -
(1) T 1.00.000 (2) T 1,50.000
(3) ¥ 2.00.000 {4) None of the above

(5) Question not attempted

» Which of the following would be appropriate to

test the significance of the difference between
more than two sample arithmetic means?

(1) Student's t-Test (2) Variance Analysis
(3) Fisher's Z-test (4) All of the above

(5) Question not attempted

- The process of checking and reviewing whether

all . the resources nvested in a business

organization have been utilized appropriately

and whether proper results of investment have
heen achieved in the form of profits is called -

(1) Efficiency Audit

(2) Audit of Accounting Information System

(3) Performance Audit

(4) Financial Audit

(5) Question not attempted

Which statement is correct regarding zero rated

supply?

(1) Supply of goods on{2) Input tax credit is
which no tax is permissible on zero
payable rated supply

(3) Above 1 and 2 both (4) None of the above

(5) Question not attempted

- Evaluation of internal control can be done with
the help of -
(1) Check list (2) Flow chart

(3) Narrative Record  (4) All of the above

(5) Question not attempted

95.

1Ll

a7.

ir

# foram o Wear 27

(1) gderor 3%

(2) v & @regey— Frdwn &1 g
(3) aimperor wfarsy &1 wanT

(4) IuRrER Wl

(8) argeRa W
afe UF W @ qEd dm Auai & aeEr B

g T4 wEEnl @ A 9 e uRenfie @
& -

(1) 1.00,000F (2) 1.,50,000%
(3) 2,00,000F (4) IuIRH | | FIg A5
(5) ageIRE we

31 A st wfeyl v At @ siaR @

AefETl oiEq vq Freefofaa d @ #E

SUYFRT BT

(1) w2 B A—uderon(2) yuwor fvemo

(3) ke 1 Z- T (4) IuNreRT W

(5) arqeife wea

U EEITS WrE # @ g Hee S

&1 geiifad SuEnT g @ ok Few @ i

o @t & w9 A ura §¢ € 9 Wi v

wAlen 2q fa 9 aren wEem § -

(1) Z&m e

(2) S =T HoTrell Sdhey

(3) fFreara= afaserun

(4) i sfmem

(5) argeifta e

gﬂ#&aaqﬁa}mﬁaﬂﬂmmﬂﬁ

() 7/ & amgfd forw(2) g R amgft w
W HIF I aF T8 FAYC cH piee

4| Al &
(3) 9% | ar 2 & (4) Sudw # | uw o
GEl
(5) s weA

srRe FriEer @1 qenea e wEmar @
faran an s &7

(1) wme ¥ (2) gt a1

(3) wer afirerg (4) E'Q‘g?ﬁ e
{Narrative Record)

(5) srefer WA
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99. Which method can be used in decision making 99 WifEm @t fufy # frolos § F9d (AR &

under RISK?

(1) Expected Monetary Value Criterion
(2) Expected Opportunity Loss Criterion
(3) Expected Value of Perfect Information
(4) All of the above

(5) Question not attempted

100. The auditor shall assemble the

administrative process of assembling the final
audit file on a timely basis within
....................... of the date of the auditor's report.
(1) 120 days (2) 30 days

(3) 90 days (4) 60 days
(5) Question not attempted
101. SA-240 is related to -

(1) Audit Documentation

(2) Responsibility of Joint Auditors

(3) The Auditors Responsibilities Relating to
Fraud in an Audit of Financial Statements

(4) Consideration of Law and Regulations in an
Audit of Financial statements

(5) Question not attempted

102. pracrical  aspects of management  audit

(1) Efficiency audit  (2) Propriety audit

(3) Performance audit (4) All of the above

(5) Question not attempted

103. Consequences of best Judgement Assessment-

(1) Penalty can be imposed on the Assessee
w/s 271.

(2) Assessee can be prosecuted u/s 276CC and
Section 276D.

(3) If the Assessee files an appeal against best
judgem-:m Assessment, he shall not be
allowed 10 present new facts before The
Commissioner (Appeal).

(4) All of the above v paa . (@) SO w4
F#'F
- (5) ergaia wes

(5) Question not attempted

mmmwa?
(1) yemf¥a HErmE S
(2) yefErg fasmeg s @ &

(3) qui e 1w e
(4) IR i

8 srgeiRe e

sudit %«m ST TS B T BT e
documentation in an audit file and complete the ‘U BT AN sidEs @ witdes o a9 9

W B WIS ufar QR He |
(1) 120 f&=1 # (2) 30 fa=i
(3) 90 f=1 (4) 60 fa=1
(5) srgeife o
101. SA-240 w4 & —
(1) aigheor yaHTEHeo
(2) wga sideri @1 ITREIHE
(3) faefra faavon @ aiderr § Fue & way A
APEH T IOEITE
@) fxfrn fawoi & oo # @A ofR
faferamt v faam
;&Elﬁlaﬁﬂﬁﬁm
(1) woean sigeor  (2) st siwero
(3) frmafer sigeror (4) o
(5) s wes

103. wafew fFofy #e fuier & oo & -

(1) ST G GRT 271 aaia seigve o
I T &

(2) sveten &1 g/ 276CC TYT 9”1 276D &
Feerte e o @1 g 2

(3 wgrem fvlm v fFako & feg I
HAT AUl BT 8 1 MY (Iew) B
WHE W T o WA DY @) geria el
-

40- 38
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104. X is supposed to file return for the A.Y. 2023-24 104,
by October 31, 2023. If it does not file return up
to 31.10.2023, then belated return may be filed
on or before -
(1) October 31, 2024 (2) March 31, 2024
(3) December 31, 2023 (4) December 31, 2024
(3) Question not attempted

prepared under Insurance Companies Act, 1938

X ® # fPea af 202324 @
31 Hagay, 2023 9% Res B & o1
a8 31.10.2023 0% e wge 6 oo &
g @ ¥ Red (Aoes Red) oifaa o=
Y TEHAT 87

(1) spaca 31,2024  (2) 5rd 31, 2024
(3) Ay 31,2023 () fawsaw 31, 2024
(8) Rt ww

fere
a2
,
aw

105. Accounts of Insurance companies are to be ‘Ef,_lﬂﬁ'r S & @ 9 e sffem, 1938
t L

according to Schedules..........ccccomui...
(1) First schedule only
(2) First and second schedule only
(3) First, Second and Third schedule
(4) None of the above
(5) Question not attempied
106. X of Udaipur supplies 1000 kg of rubber bushes  106.
to Y of Amritsar. Invoice value inclusive of GST
€ 1,02,400. Applicable GST rate is 28%. What is
value of taxable supply?

1) Rd wem srgas

(2) fw werw vd fadfrg srege
(3) w2, faia vd gefra srgeed
(4) Syt % & B TE

(5) arqeiRe e

SEUYR T U IYAER & 918 BT 1000 kg

vaE wfEal @ amgfid wver &) Sfvd wRea

A1 $T He 1,02,400 T & | G SHE X
28% & | I AT aMyfet @1 gew @ &2

(1) ¥ 1,02,400 (2) T 73,728 (1) 1,02,4002 (2) 73,728 F
(3) ¥ 80,000 (4) % 22,400 (3) 80,0002 (4) 22,4002
(5) Question not attempted ' _135} eI ued

107. Section 77 1o Section 90 of Customs Act, 1962

deals with -

(1) Duty Drawback

(2) Special provisions regarding baggage, goods
imported or exported by post and stores

(3) Warehousing of goods

(4) Confiscation of goods and conveyances and
imposition of penallies

(5) Question not attempted

108. Which basic variable is to be added to start the 108
solution under simplex method of linear
programming in the given constraints
3X) + X2 =457
(1) Slack Variable (2) Artificial Variable
(3) No Variable is 1o be(4) Surplus Variable %

added r
(5) Question not attempted

Yo AffEm, 1962 @t awr 77 9 9RT 90
% Hafd & —
(1) e a9
(2) W, =% gwr arafaa ar Paife s
3R gHHET & WAy W Ry |
(3) & & wveww 9
@) et SR Al B St s SR S
EHIE i
(5) eIk weA
a1 T aftEt 3X) + Xa =45 9 Y erlwa
@1 Rructan ff @ afa &a & weer e
@ o S g T Siter s
(1) ¥& = (2) ®Em =
() B T afufem@) snfrea 9w
81 favar s
() SR e

40 - 38 Page 22 of 32



109. Information given —.
Activities of critical path: 1-2 2-3 3-5 5-8
Most optimistic time (days) 3 6 9. il
Most likely time (days) 6 12 11 4
Most pessimistic time (days) 15 30 17 7 .
Expected time of critical path is - E"i'-'i_:
(1) 69 days (2) 15 days Ti:l!l.
(3) 33 days (4) 36 days
(5) Question not attempted

110. According to Section 44AB of Income Tax Act,
tax audit shall be obligatory in the following
case(s) -

(1) In any business if it's total sales turnover or
gross receipts in the previous year exceed
T 1 crore.

(2) In a profession, if its gross professional
receipts in previous year exceed T 50 lakhs.

(3) An assessee, who is simultaneously engaged
in a business and a profession, if the
aggregate of his business and professional
receipts does not exceed T 40 lakhs.

(4} Above 1 and 2 both

(5) Question not attempted

1H.ﬁ1ﬂ§;ﬁm_
ﬁﬁ‘lﬂiﬂﬂfaﬂﬁ‘iﬂﬁm 1-2 2-3 3-5 5-8
I IheH TR ) i - S
e waifaa wwg (=T #H) 6 12 11 4

e fereremardY e (Rt H) 15 30 17 7
wifvas wrf &1 geafa 99 § -
(1) 69 f&= @ 15fR=
(3) 33 f&= (4) 36 fa=

(8) srgaia ueA
1M0. gy wfefFos @ g 44AB & STER,

e @ aregar et Ryt 7 a8nft —

(1) il =maarg ® AR @a Rwy @ 9@
wifterdt e o # 1 FUs TH RS =)
@ fFH o § W o HEa Wik

50 TH s &)

(3) T FHEETT S FAEE U9 US gE H HeA
8 U9 9ue wee wiidl araa v ad 9
40 &g T it TE # )

(4) 3w 1 vd 2 sFl

(8) areiRer wve

111 In duality the coefficient of variables in the] 1'91'#@'&’ BT AR @ Ia g§a BN w6l

objective function of primal under lin
programming problem become -
(1) Coefficient of basic variables.
(2) Coefficients of non-basic variables.
(3) Constants of Constraints on the right hand
side.
(4) None of the above
() Question not attempted
112. Which of the following is not the function of
Statistics?
(1) Formulation of policies
(2) To compare simplified data and establish

Hifed & Sied o H W @ o6 a9 S
=

(1) ey =9 & OIS |

(2) A =R & IO |

(3) g & & e Wil % R |

(8) Sudfat # | v f 8
(5) srefe e

M2 fp=ifeg & | @i |ilkae o1 &1 =81 87
(1) fifert FAaiRa s

(2) eligse |HST @ A B U WER

relationship s .I_'-'_ e ST
(3) The data should be homogeneous (3) w¥&T § THEHIAT YT FATHT S+ 9y
uniform : (4) e wHSl HY TXA a0
(4) To simplify complex data (5) e e
(5) Question not attempted
40- 38 Page 23 of 32




113. What  deductions
transaction value?
(1) Amount paid by customer on behalf of the
supplier subject to conditions
(2) Fright charges incurred by the supplier
(3) Packing charges subject to conditions

are allowed from the

(4) Discount offered to customers subject lt :#i-:

conditions
(5) Question not attempted
114. Section 139 of the Companies Act, 2013 deals
with -
(1) Appointment of Auditors
(2) Eligibility and qualifications of Auditors
{3) Removal of Auditors
(4) Remuneration of Auditors
(5) Question not attempted
115, [n which situation need for replacement of asset
arises?
(1) When an old item fail or is expected 1o fail
shortly.
(2) When an old item has deteriorated and
requires expensive maintenance.

(3) A better design of equipment is available du g
to improvement in technology. | ! 1-._

(4) All of the above
(5) Question not attempted

116. Short term capital gain arising on transfer of
listed shares on which STT is paid at the time of
transfer, would be chargeable Lo tax at the rate
of -

(1) 10% (2) 5%
(3) 20% (@) 15%
(5) Question not attempted

M7.The Central Government may impose
...................... on specified imported goods, if itis
of the opinion that the goods are being imported
in large scale and they are causing injury to the
industry in India [Section 8B(1) of the Customs
Tariff Act, 1975].
(1) Safeguard Duty
(3) Protective Duty

Duty
(5) Question not attempted

R

Bl e
(2) Countervailing Duti "-E’;E
(4) Special  Addition .

3. @ & go0 A & P B WiFa 87
() wri & 3nfr anyfcimal &1 iR | MES! gRI
GG B e A
(2) ayictet gvT awe [ T AT gens

lﬁlﬁa‘%mﬂﬁnzﬁw
@) 7|l @& aefi= uwEST &1 U9 eI T A
: (8) argeRe g
M4, Fogedy arfrfzm, 2013 @GR 139 wafyg & —
(1) aiemerani @ Fgfe
(2) ai@erani @) urEe wd A
(3) sicherant &) B
(4) asigermt &1 wiefie
(5) arafea we

V5. s ofRRefeel & dufy & gawies @)
ATTEIHAT I B 87

() sig v qREN we @vE @ m fPae e §
Sied] B @vE 8 arel &) :

{ﬂtﬂ?ﬁgﬁﬁqﬂfﬁﬂagﬁ%mm—

lﬂiaaﬁlaaﬁguﬁfsmﬂwqaiﬁmmaﬁﬁ
fEomeg &1 Sumw SuwEr )

(4) SuRTE w4

(5) 3rgFiive WA

6. yftrgfaa siwi & svaioRy § IU=1 ASaHTEH

oft o fore o v &1 gann w81,

T 9 B ayel B s

M 10% (2) 5%
(3) 20% (4) 15%
(8) srraRa uwA

7. &g wer FAfde afda awgsi o oo
T HEHO B, AR IS w1 A 8 & e
a8 A W ammna fr o v @ aiR 9 9Ra
H QR @ qEEE yEd @ 81 [ 16
cfRw afafm, 1975 @ arr 841(1)] |

(1) [en e (2) wferrd) g
(3) yrs Yob () fam sfRad gow
(5) araia ueA
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118. Sub-Section (1) of Section 30 of The Banking
Regulation  Act, 1949 requires  audit
L. i AL,

18,

120.

121.

118.

(1) Profit and loss account of a banking
company :t':.l
: 3

(2) Balance sheet of a banking company.

(3) Above (1) and (2) both

(4) None of the above

(5) Question not attempted

Which of the following is not covered in
Schedule 11 (Activities treated as supply) of
CGST Act, 20177

(1) Job work

(2) Rent of commercial property

(3) Work contract

(4) Services provided by employee to employer
(5) Question not attempted

Creation of GST Council as per Aricle

119,

120.

.................... of the Amended Constitution.

(1) 255 A (2) 279 A

3) 266 A (4) 286 A -

( : i = ._E:*
(5) Question not attempted W

The points which should be considered while

audit of charitable trusts is done-

(1) Whether rules and sub-rules applicable on
trust and passed resolutions by management
committee applied or not.

(2) Checking of donations, subscriptions and
interest received.

(3) Verification of Assets.

(4) All of the above

(3) Question not attempted

122. Game theory deals with -

(1) Mathematical aspects of the decision mﬂkil.u:[,1
process. -
e

(2} Formulation of strategies of individu
pursuing conflicting interests.

(3) Above | and 2 both

(4) None of the above

(5} Question not attempted

121.

dfem Frama sfafas, 1949 #1 g/ 30 :
SR (1) & TR @ S DI
gyl & |

(1) dfpr Fvgl &1 am—ei= @

(2) #fbn s @1 fagr

(3) SuvraRt (1) T4 (2) <

(4) SuRIeE 4 9w A6

(8) s w9

e A4 o T Wsiea @ sfRfas 2017 #
sy fadim (mfafaferat & smyfd & wu ¥
A=) | wfeafem T 87

(1) wita a®

(2) sforfoeres weafer @1 foeran

(3) wr S

(4) FsemsT g1 e &1 ueE @1 T Sa

(8) srgeifta we

ieadl uites @1 P daife @feE @
(1) 255 A (2) 279 A J
(3) 266 A (4) 286 A

(58) srgerier wes

gwiel Tl @ sdev & Ay o faegel

e wy wfge —

(1) Fo1 =8 W) o, fFrami gd Suftamt o aen
e | g oita wveral & ures fm
Bl

(2) g9, =e Uq @ Wit & S|

(3) wraferat &1 weuma |

(4) Fusiger W

(8) s oee

122. W T @aER TR & —

(1) fvia= wfeezn @1 iR T8

(@ anfdqai & et Rl & eewE gq
Feffert @1 fFmfor)

(3) BRI 1 U9 2 21

(@) ST H | g Tl

(5) argaifie ue=
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123. Tolly Traders, commenced business on 5"

August, 2022. Its twmover exceeded the
threshold limit on 5% March, 2023 and it applied
for registration on 20" April, 2023. The
registration was granted on 25% April, 2023.
What is the effective date of registration?

(1) 5™ March, 2023 (2) 20" April, 2023

(3) 5™ August, 2022 (4) 25% April, 2023

(5) Question not attempted

124. What is Critical Value?

(1) Level of significance

(2) It is a parameter.

(3) The value on which Hypothesis is tested.

(4) It indicates acceptance region in normal
curve.

(5) Question not attempted

Population Mean is 324, Sample Mean is 321.25
and Desired level of Confidence is 95%. then
what will be the optimal sample size (n)?

(1) 196 (2) 98

(3) 280 (4) 49

(5) Question not attempted

126. Shadow price means -

(1) Numbers under artificial variables in index
row.

(2) Numbers (Coefficients) under slack variables
in index row.

(3) Resource has not been fully utilized.

(4) Both 2 and 3

(5) Question not attempted

127. The probability that a student will Post-Gradua

123. Z1eft =¥, 5 o, 2022 @ BRER I )

UG ThalEY § HrE, 2023 @ Feifa S 9
Ffod & T s 3ER 20 e, 2023 #

. TSRO & foTg Smaes fomar | wofteRer 25 3iitd,
_“Il:gg\lﬂﬂi‘i’t e far ) oofieeer & g

T ey g &7
(1) 5 =14, 2023 (2) 20 arite, 2023
(3) 5 arTe, 2022 (4) 25 afiter, 2023
(5) argeRa e

124. wifas =5+ a1 27

(1) Tfway T

(2) 7% vw o # |

(3) ve A forwe R 9w UREeqT 7 O¥Em
o @ B

(4) warTg 9 § a8 Ve &7 w1 5 Feen
£

(5) arfeiiNe ue

125.1f the population Standard Deviation is 10, =, 128 nf2 wwfte wam fge= 10, wwfte =g 324,

A yfrest wrem 321.2 7 sfdn Rvarear W 95%
8 o ufied @ uuftem 3R (n) TN
BIT?

(1) 196 (2) 98

(3) 280 (4) 49
(5) argeiive ww

126. w17 Hou &1 39 § -

() waw® 9fa § $HEm o © Fwia g |

(2) Wi o= & g HE@iD Uik § HEmd
(TomTe®) |

(3) HamEEl T UOTHY § SUGNT FE fhar |

(4) 2521 3 41

(8) srgeila g
-UE UTH @ SNOey B86 @ wiidear 0.6 €1

=k
is 0.6. What the probability that out of 5 studentsy I'E:’m 1w € 6 S et & 4 of Soenr

all will be Post-Graduate?

(1) 0.05184 (2) 0.6

(3) 0.01024 (4) 0.07776
(5) Question not attempted

Bh?

(1) 0.05184 (2) 0.6

(3) 0.01024 (4) 0.07776
(5) argea e :
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128,

130.

131.

Which one of the following statement is false -
(1) Total tax liability of partnership firm is
33.99% of taxable Income. J

(2) Maximum rate of interest on partner’s cap!ﬂ:.
| w

18 12%.

(3) A limited liability partnership firm will have
to pay alternative minimum tax

(4) Share of profit received by partner from
partnership firm is exempt.

(5) Question not attempted

(v — 1)% or A} = 0 equals -
(M) y3—3y2+3y1—yu=0
(2) y1 4+ 3y2+ 3y +y0=0
(3) 3ys + 3y2-3yvi+y0=0
(@) ya+3y2 -3y =vo=0
(5) Question not attempted

For payment of IGST input tax credit can be
utilised in the following manner only -
(1) IGST, CGST, SGST/UTGST

(2) IGST, SGST/UTGST, CGST

(3) CGST, SGST/UTGST, IGST

(4) Any of the above manner

(5) Question not attempted

Meaning of performance audit is........cocciiiinie

(1) Performance review of business or any of its
factor.

(2) Editing of work is according to fixed target or
not,

(3) Its cost is according to standards or not.

(4) All of the above

(5) Question not attempted

132. Which one of the following statement is false?

(1) Management audit is a statutory require
(2) Management audit is process of exmn%

and evaluation of the performances
managerial functions.

(3) Management auditors need not possess any
professional qualifications.

(4) Management  audit  investigates  into
soundness of management and efficiency of

operations.
(5) Question not attempted

128, fpsfarfian o 9 F9w F99 v & —

129,

130.

131.

132.

(1) U&F WEN B4 & fFE—aldd ® ardg
AT BT 33.99% & |

(2) TrEiETT 1 golt Uy Aty Wiga @ o
W 12% 21

(3) v Wffe T aEE B9 ®1 dwfous
STAH BY BT AT AT Bl 8 |

(4) HIETETT BH W HISET B WIS @™ S 9
HY O B B |

(8) argaiive g

(y=12 A =0 e & —

(1) ya—3v:+3yi—yo=0

(@) yi+3y:+3y1+yo=0

(3) 3ys+3yv2— 3yi+yo=0

(4) y3+ 3y2—3y1 —yo=0

(5) srqmiRa weA

IGST oA & forg Bgwr &% 591 &1 Swam

Fr=ifoiftaa afi® @ e on waar & —

(1) IGST, CGST, SGST/UTGST

(2) IGST, SGST/UTGST, CGST

(3) CGST, SGST/UTGST, IGST

(@) gyt # | B8 o o

(5) argeiRa weA

ey aicberor o1 aef ..

{ﬂm‘ﬂﬁmmmﬁﬂﬁmaﬁﬁmﬁlaﬁ
e |

@ w1 @1 v FaiRa @ & g 8
3ferar el |

{m;rﬁ@anmﬁtﬁﬁamﬁsﬁﬁwaﬁq%m

|

(4) St ot

(5) sreiiea wed

M A W @ Sy e 87

(1) weee afderor darf-ih WO W IGID £ |

(2) ga=er simeror yaeraa o Fufy & adem
uq qedidE @ ufhar 2

(3) gy aipEs & forw UWER Armar g8
smavas 8 8 |

(4) ya=r S[He wEE D1 ggedl U9 Harer
oI TR P G F & |

(8) sl we
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135. The application for removal of auditor

133. 80 imperfections were found randomly in cutting

of 20 pieces from different rolls of clothes
manufactured in a textile industry. What
central, upper and lower limits on the basis of;'
chart?

(1) 4, 10, -2 (2) 4,10,0

(3) 2, 10,0 (4) 8, 10,0

(5) Question not attempted

134. While auditing a Charitable Institution, the

auditor needs to verify that -

(1) Adequate control is imposed over unused
receipt books.

(2) Test checking the counter foils with cash
book.

(3) Total donation received is matched with
figure published in report.

(4) All of the above

(5) Question not attempted

expiry of his term shall be made to Central Govt.
within 30 days of...........ccccviniene

(1) Ordinary Resolution (2) Special Resolution
(3) Board Resolution  (4) None of the above
(5) Question not attempted

136. Under propriety audit, the auditor checks that -

(1) The expenditure was necessary for the
business.

(2) The manager has taken expenditure decisions
like a common man.

(3) The expenditure is not more than necessary.

(4) All of the above

(5) Question not attempted

137. Determine the Customs Duty (total duty and 137.
payable including the safeguard duty of 21;%
Goods with Assessable Value of 60, A

considering Basic Customs Duty (BCD) @ 10%,
Social Welfare Cess is levied on BCD @ 10%
and IGST @ 18%.

(1) T29,88,000 (2) T32,04,000

(3) T 14,14,800 (4) ¥32,74,800

(5) Question not attempted

bq;;-ﬂ 135,

138 v ewersa wum # e s 50 @

e (W) | 20 gwe wie T e agfee
WU ¥ 80 Igoten urft 7| A @ dER W

(1) 4,10, =2 (2) 4, 10,0
(3) 2,10.0 (4) 8, 10,0
(8) srailRa v

134. sif¥Sae Wy W ABEYT HY HHU, IBED

B MG B B AGIGHAT & —

(1) swgan wie gl W ogate FEEer =
TR

(2) Aws adt @ arr wioaet & s\ )

() yra & T B AeE wiasa # gEim
siwst | fbar mar 2

(4) Iutam wf

(8) st v

HPEF B TP BADE B G o s
BeH & fom amae. .. @ 30 RE @ S
@ UER B g\

(1) \rERYr g (2) faer wwma

(3) a7 wwarg (4) Ioa o ¥ BIE TE
(5) el ueA

. Sitferen SiPET B arila Side® wig Hedl &

ﬁg_

(1) e agam & o anavas 91|

(2) ggerss 5 U o =fda @t wife =m @
ot foram 21

(3) =ra gy 9 At o A8 8

(4) SraE Wl

(5) srgeifer W

T A oo (@) @ 10% W faar we

BT 60,00,0008 @& Heuid+ 4G T aret WHH

& forw 20% & e Yoo wfea < @ gom

(@ god R ) @ Fafior 33 F=9H w

10% @ &Y ¥ W Houre SUHT Sl

T & 3R IGST @ 18% |

(1) 29,88.000 % (2) 32,04.000F

(3) 1414800 F (4) 3274800 T

(8) e we
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138.

139.

Mrs. Ranu is a member of HUF. She earned
interest of ¥ 2,600,000 from her ‘Stridhan’. She

liable to pay tax for A.Y. 2023-247

138. sfreht W qag e, @ wew €| oHe v

does not have any other taxable income. Who ieﬁ

(1) Only HUF

equally
(3) Only Ranu (4) None of the above
(5) Question not attempted

Bhola's father is dependent on him and suffering
with 90% disability. Bhola has incurred an
amount of ¥ 1,10,000 during the financial year
2022-23 in maintaining and on medical
treatment of his father. The deduction he can

‘claim in his Income Tax Return for Assessment

Year 2023-24, if does not opt. for Section
115 BAC is-

(1) T 75,000 (2) T 80,000

(3) ¥ 1,10,000 (4) ¥ 1,25,000

(5) Question not attempted

140. A binomial distribution has it’s mean ‘a’

141.

and "
number of success i.e. n= 12. Calculate Smd:%ﬂ
Deviation. el

(1) 1t
2
(31

(@) 2

2
(4) 7

z 2
(5) Question not attempted

If the conditions of Section ..........cccouernniOf
Income-tax Act are not fulfilled, the firm is
assessed as AOP,

(1) Section - 184 {2) Section - 200

(3) Section - 221 (4) Section — 190

(5) Question not attempted

142. The function of audit covers-

(1) Review of internal control system
(2) Accounting principles

(3) Review of system and procedure
(4) All of the above

(5) Question not attempted

deals with -
(1) EPCG scheme (2) Drawback of duty
(3) EOU scheme (4) Charging station

(5) Question not attempted

=k
(2) HUF as well as Ranw

139.

F FE 2,60,000 T &1 e afsta far | sa@
3 ®Ig B ARy I T8 8 @ el ay
2023-24 % faw &9 &2 39 & foo gl &7

(1) Pact vagus.  (2) CAUE. UE T
AT T

(3) Faa ¥ (4) SueTTH | | @ig 8

(5) argeiita weA

Hien & e 95 W iR s 90% fwerra

¥ WifeT & | wren = <l ad 2022-23 % SRA
9+ o1 % Ya—vang 3 fFffeear 9= 1,10,000
T o1 fyr @y 9 & g 115 GO @ @
7 g IR 98 T a9 2023-24 & fom )
g Red # el &1 g S gaal & -
(1) 75,0002 (2) 80,000 %

(3) 1,10,000F (4) 1,25,000%
(8) araifta ue
% fgue fAaww &1 wra a € qen Bl @
T SR n=12 8| uAY fAEas @ o
N |
(myu (2) 2
2 2
(3) 1 (4) 7
2 2
(5) arafa we
141. g2 ag—ae ARFTE & aRT
@1 el @) gfd T8 el of B @1 @ fHaie
afdeal & we @ ave fbar e 21
(1) g1 — 184 (2) g — 200
(3) gy — 221 (4) &RT — 190
(5) araie wee
142. afeor & sl | wivfem & /8-

2|

143. Under Customs Act, 1962, Section 74 and 75

(1) ar=Re fa=or eawen &1 geaals
(2) srEree @ fhgid

(3) argwe vd fRunfaf®y @1 gavEers

(4) Suien |l

(5) argeie e

- T gew SfRfTET 1962 @ s aRT 74
3R 75 wrafa & —

(1) EPCG 2171 (2) gep e
(3) EOU 1T (4) =fai e
(5) sgaia we
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144. A box contains 8 red, 7 white and S blue balls. If  144. 7w f&a1 4 8 @, 7 wwe 3w 5 el 1F #)
three balls are drawn from it at random, what is ofg s & agfes wu ¥ @9 AL Far
the probability that the balls will be drawn in thi A £ O 39 F9 § el @ Pieas 97 mfiean
order - first red, then white and finally blue. 2 : T BEll — uEd oo, fhY 9% ahv Mg ¥

(1) 35/95 (2) 71171 : |
(3) 7/200 (4) 14/285 (1) 3595 (2) 7/171
. (3) 71200 (4) 14/285
(5) Question not attempted
g (8) argwifte weA

145. A suitable average for testing the intelligence of 145 B} & difg® ww @ wifa 2q Sfow W 2.

students i8......c.coiiiiiie.

(1) Geometric Mean  (2) Arithmetic Mean (1) T[iree = (2) AR °E
(3) Median (4) Mode (3) it (8) aTET®
(5) Question not attempted (8) srgeifea we

146.In a baich of 25 students 9 failed. The Marks  146. 25 fenfifat & vw 47 # 9 el sl 2
obtained by the successful students were 56, 81, T | FWe BTEl g KT 3 HEHIE 56, 81, 69,
69, 46, 65, 61. 48, 75, 72, 53, 59, 77, 68, 57. 49, 46, 65, 61, 48, 75, 72. 53, 59, 77, 68, 57, 49, 91
91 respectively. The Median marks of al & | ) BTEl © AT 3§ 8N —
students will be - :BE (1) 53 (2) 68
(1) 53 (2) 68 3) 46 @) 51
(3) 46 (4) 51 (5) srgee W

(5) Question not attempted

147. There is a tendency of increase in the population  147. f&f wrev & w=wen 4 gfy o wafy o

of a town when - _ W & Wg —
(1) NRR=co (2) NRR>1 (1) NRR=== (2) NRR>1
(3) NRR=1 (4) NRR<1 {3) NRR=1 (4) NRR<1
(5) Question not attempted (5) armIReT WA
148. In GST, refund application is to be filed beforg 148 Sfiga @l & Aol IEET .o &
the expity of ... from the relevant+ wrife fafly o s § od s 8oy
1 L]
date. (1) 260 fEawg (2) v o
1 2
(1) 260 days (2) One year (3) 71 = (4) 180 3w
(3) Two years (4) 180 days
(5) srgeife ww=

{5) Question not attempted
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149. Countervailing duty under Section 9 of the

Customs Tariff Act, 1975 shall not be levied
unless it is determined that the subsidy provided
by the exporting country on manufacture of

198. vy gpew 2R affFam, 1975 0 a1 9@

T8 HIcale’ Yoh 79 a6 Tl Iar S
g a% & 78 FuifRa 7 & o fF R g
& fAmior uv Frafa® <o gRT uem @1 9 gl

article - = afead —

(A) is conferred on all persons engaged in the (v) Sa awg @ fefor & o w4 afdr @)
manufacturing of said article. qar @ ot 2

(B) relates to export performance. e £ e

(C) relates to use of domestic goods over Fﬁ} ¥ W i ;
imported goods articl S i il ﬁﬁ” AR Sk

ported goods in export article. 2 ¥ i B
Choose the most a riate option -
At E Hadl Sugan e g1 —

(1) option (A) and (C) (2) option (B) and (C)
_ . (1) fweg (v) ot (W) (@) fee (@) siv (@)
(3) option (A), (B) and(4) option (A) and (B) @) frea (1), (@) i@ fa @) s (&)
© )
(5) Question not attempted (8) arpaifa weA

150. Gife wi, forfies, = ®oi afafem, 2013 &

towards meeting its corporate social fEd A9 BiNe arfae eer (@oa

responsibility (CSR) under the Companies Act 3R F W B & v 10 9 T ufd @

2013. The amount of deduction available whil% B B G @ AT B AT BT THY
b |

150. Jatin Pvt. Ltd., has spent & sum of T 10 lakhs

computing the business income is - A 9uaE wer & ufl § —

(1) T 12.5 lakhs (2) ¥ 15 lakhs (M 125@m@T (2) 15 g ¥
(3) T 10 lakhs (4) Nil (3) 10 @ T (4) ¥

(5) Question not attempted (8) argafta uw

Bk
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